Algebra 2 test with solutions

November 12, 2012
5th Year honours maths

Test on Algebra Chapter 2

Question 1

(i) x> - 2x—5=0

By using the discriminant, determine the nature of the roots of each of the following
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Question 2

Using trial and error, find

(i) aroot of the polynomial f(x) = x* — 4x*> — 11x + 30
(i1) the factors of f(x), and

(iii) hence solve the equation x*

4x* — 11x + 30 = 0.
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Question 3

Express 2x> — 4x — 5 in the form a(x + h)* + k and hence,

(i) solve the equation 2x* —4x —5 =0
(ii) find the minimum point of this curve.
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Question 4
—1+V3
a) Sh that =2 — V3.
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b) Solve each of these equations and check each solution:
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Question 5

If , and r, are the roots of the equation x*> — V3x — 6 = 0, evaluate r,r,.

r,f-,,’ "'(9

Question 6

A section of the graph of a polynomial VA (3.8)
flx) = ax*+ bx> + cx +d 87 .

is drawn in this diagram. 7

@ ind the roots of this polynomial. 67

Wril{: an expression for f(x) in terms Ry
of the factors of this polynomial. 47

(iii) Find the values of a, b, ¢ and d. 3

(iv) Find an expression for the reflected 24
image of this curve in the x-axis. 1

(v) Find an expression for the reflected image | ! I . V. S N
of this curve in the y-axis. _—l(l-)- I 3456 74
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